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Space Test, baseline, lowest preload
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Ground Test, baseline, lowest preload

*ll

*_+++÷++÷÷*++*÷++++++++,+++.÷÷÷÷÷+÷÷÷+÷++÷*÷÷÷÷++++*

ooooooooooooooooooooooooooooOOOOOOOOOOOOOOOOoOOOOOO
I I I I i

7.5 7.6 7.7 7.8 7.9

Frequency (Hz)



=
C

= ]

_J

5

,4

U--

'2
tJ

>

W:

N

___

O00_mm

_oo_

0+_ :[,"

Jl I I _ I t I

/

i

i

i
!

!
I

/

_+ o

t + o •

+ o

+ o x

+ o

o _

÷ 0

÷ 0

l

+o

+o 6

_o *

.o •

-o

+o •

+o .

+o *

+o *

÷o 6

+o *

• o *

+o •

÷o •

+o.

+o*

+o*

, %%

i

II I I I I I I

11111 I [ I

o

IIII 1 I I 1

o

_ql/s,_ IV

t'-

t'-

t'-

t--

¢,3

t'-

{"4

p-

t'-

t)

t)

m

?_

_Z



0

•° ! i



_J




